

April16, 2012

VIA RESS, E-mail, and Courier

Ontario Energy Board P.O. Box 2319 27th Floor 2300 Yonge Street Toronto, Ontario M4P 1E4

Attention: Ms. Kirsten Walli, Board Secretary

Dear Ms. Walli,

RE: London Hydro Inc. Application for Distribution Rates Effective May 1, 2012 Board File No. EB-2011-0181

On November 24th, 2011, London Hydro Inc. submitted its 2012 3GIRM Application and evidence to the Ontario Energy Board for an Order approving just and reasonable rates for distribution of electricity and other charges, effective for May 1, 2012.

In regards to the above matter, London Hydro Inc. received the Board's "Decision and Order", as issued on April 4th, 2012, in which the Board directs London Hydro to file a draft Rate Order, and supporting documentation such as completed versions of the 2012 IRM Rate Generator model, updated SIMPIL models and continuity tables to support the claim for disposition of Account 1562, and LRAM calculations showing the derivation of the final rate riders to recover the approved LRAM amount. Please find enclosed these required documentation and models.

An Electronic copy of this submission (in PDF format, and models in excel format) will be submitted to the OEB by RESS (e-Filing services) and two hard copies of the submission will be submitted via courier.

We would be pleased to provide any further information or details that you may require relative to this submission.

London Hydro respectfully submits this submission for the Board's consideration and issuance of a final Tariff of Rates and Charges.

Yours truly,

Original signed by

Mike Chase Director of Finance and Regulatory

cc. David Williamson, Chief Financial Officer, VP of Finance, and Secretary

ONTARIO ENERGY BOARD

IN THE MATTER OF the Ontario Energy Board Act, 1998, S.O. 1998, c15 (Sched. B), as amended;

AND IN THE MATTER OF an application by London Hydro Inc. for an Order or Orders pursuant to the *Ontario Energy Boards Act*, 1998, approving or fixing just and reasonable distribution rates and other charges for the distribution of electricity and related matters, effective May 1, 2012...

Draft Rate Order of London Hydro Inc.

Introduction

- The Applicant is London Hydro Inc. ("London Hydro"). London Hydro is a licensed electricity distributor pursuant to license (ED-2002-0557) issued by the Ontario Energy Board (the "Board"). The Applicant distributes electricity to approximately 150,000 customers within the City of London.
- 2. On November 24, 2011, London Hydro Inc. ("London Hydro") submitted its 3GIRM Application to the Ontario Energy Board ("Board") for rates effective May 1, 2012.
- 3. Subsequently, the Board issued a Letter of Direction and Notice of Application and Hearing on December 7, 2011.
- 4. As a result if the Notice of Application and Hearing, the Board received one intervention request from the Vulnerable Energy Consumers Coalition ("VECC"), requesting intervention specific to the Lost Revenue Adjustment Mechanism ("LRAM") submission of the Application.
- 5. As per Board direction, written interrogatories from both Board Staff and VECC were received on January 19, 2012.
- 6. London Hydro submitted its responses to the interrogatories on February 1, 2012. As Final OPA 2010 Program Results report was received by Applicant during London's preparations to respond to interrogatories, the Applicant updated its LRAM Application to include 2010 Program results.

- 7. Submissions from both the Board staff and VECC were issued to the Board and copies received by London Hydro on February 16, 2012. Reply Submissions were submitted by London Hydro to the Board, Board staff, and VECC on February 27, 2012.
- 8. The Board issued its Decision and Order as to London Hydro's Application on April 4, 2012. The Board directed London Hydro to file a draft Rate Order, and supporting documentation such as completed versions of the 2012 IRM Rate Generator model, updated SIMPIL models and continuity tables to support the claim for disposition of Account 1562, and LRAM calculations showing the derivation of the final rate riders to recover the approved LRAM amount.
- 9. In reply to London Hydro's letter, dated April 6, 2012, for the Request to the Board for Delay of the issuance of the draft Rate Order for London Hydro's 2012 IRM Rate Application, the Board issued Procedural Order Number 1. The request was made to provide sufficient period of time for London to prepare it's draft Rate Order due to considerations the seven day preparation period directed by OEB was interrupted by four day Easter Holiday. London Hydro was granted a new filing for the draft Rate Order date of April 16, 2012.
- 10. Board staff supplied London Hydro on April 10, 2012 with updated rate models reflecting most of the changes made by the Board in their Decision and Order.

Draft Rate Order

London Hydro has included with this submission:

- i) Proposed Tariff of Rates and Charges reflecting the Board's findings in their Decision and Order
- ii) 2012 IRM3 Rate Generator
- iii) 2012 IRM3 Shared Tax Savings Workform
- iv) 2012 RTSR Adjustment Workform

- v) Updated 2004 and 2005SIMPIL models and continuity calculations tables
- vi) LRAM model
- vii) Total Bill Impact Tables

In compliance with the Board's Decision and Order, London Hydro acknowledges the following revisions as directed by the Board. They are:

- a. Price Cap Index Adjustments of 0.88% applied to distribution rates and uniformly across customer classes;
- b. Rural or Remote Electricity Rate Protection amended to \$0.0011 per kWh;
- c. Shared Tax Savings Adjustments include an amount of \$723,720 to be disposition over one year period, May 1, 2012 to April 30, 2013;
- d. Adjusted to 2012 Uniform Transmission Rates complying with Hydro One Transmission Rate Order (EB-2011-0268);
- e. Disposition of approved Group 1 Deferral and Variance Account Balance, in the credit amount of \$7,184,125. The amount to be dispositioned over a two year period, May 1, 2012 to April 30, 2014. Further, to transfer approved account balance to the sub-account 1595, effective May 1, 2012;
- f. Disposition of Special Purchase Charge (Account 1521) in the credit amount of \$98,993.49. The amount to be dispositioned over a two year period, May 1, 2012 to April 30, 2014. The account 1521 to be closed effective May 1, 2012.
- g. Updated values to account 1562 PILs disposition resulting from Board direction that deems 2004 PILS recoveries be increased by \$400,000 plus interest, resulting in account 1562 credit increasing from a balance of \$26,624 to a balance of \$539,195. The amount to be dispositioned over a two year period, May 1, 2012 to April 30, 2014. The resulting value to be recorded to sub-account 1595, effective May 1, 2012:
- h. To disposition an LRAM amount of \$152,652.49 to be recovered over one year period, May 1, 2012 to April 30, 2013;
- i. Removal of the Smart Meter Funding Adder, effective April 30, 2012.

Lost Revenue Mechanism (LRAM)

In compliance with the Board's Decision and Order is a table reflecting the disposition of an approved LRAM amount of \$152,652.49. The resulting rate riders are provided in the table, as follows.

Forgone Revenue by Program and Class {2010 OPA Programs Only}

		2010					То	tal							
ot E							Re	venue		rrying arges	To	tal	2010 Billing Determinate	Rat	te Rider
Class/ Program	Year Program Impliman ted	Load Impact	k¥h or	Rate per Unit		Revenue									
RESIDENTIAL	HERE'S	1-720-20	VERSEE	NEWN.	10			454444	118		340	Selection.	GREEKEN.	Kasi	
Great Refrigerator Roundup	2010	1,272,000	kWh	\$ 0.0142	\$	18,062,40	\$	18,062.40							
Cool Savings Rebate	2010	1,223,000	kWh	1	\$	17,366.60	\$	17,366.60			l				
Every Kilowatt Counts Power Savings Event	2010	539,000	kWh	\$ 0.0142	\$	7,653.80	\$	7,653.80							
Residential Total		3,034,000			\$	43,082.80	\$	43,082.80	\$	844.42	\$	43,927.22	1,146,514,255	\$	0.00004
General Service < 50 kV		6125168	BANG.	Setting	蜒		E		35217 35217		180		ARTHUR AND		
OPA Energy Retrofit Incetive Program (ERIP)	2010	116,414	kWh	\$ 0.0091	\$	1,059.36	3	1,059.36							
High Performance New Construction	2010	839,000	k₩h	\$ 0.0091	\$	7,634.90	\$	7,634.90			l				
Power Savings Blitz	2010	7,467,000	k₩ħ	\$ 0.0091	\$	67,949.70		67,949.70	İ		l			l	
Multifamily Energy Efficency Rebates	2010	1,244,000	kWh	\$ 0.0031	\$	11,320.40	\$	11,320.40							
Total General Service < 50 kV		9,666,414			\$	87,964.36	\$	87,964,36	\$	1,724.10	\$	89,688.46	407,620,994	\$	0.00022
General Service 50 kV to 4,999 kV	emants	id.Atas	SPREE.	WEEK	被	SUPPORTS	RE.		26		es.		10-1537138	1682	
OPA Energy Retrofit Incetive Program (ERIP)	2010	210	kW	\$ 1.6052	\$	337.82	\$	337.82	l						
Demand Response 1	2010	0	EW.	\$ 1,6052	\$		\$	4			l		i	l	
Demand Response 2	2010	3,391	kW	\$ 1.6052	\$	5,442.52	\$	5,442.52	1						
Demand Response 3	2010	7,171	kW	\$ 1,6052	\$	11,511.62	\$	11,511.62	1						
Loblaw & York Region Demand Response	2010	832	kW	\$ 1.6052	\$	1,335,93	\$	1,335.93							
Total General Service 50 to 4,999 kW		11,605			\$	18,627.90	\$	18,627.90	\$	365.11	\$	18,993.01	3,944,476	\$	0.00482
Large User	Hills	1944AA		NATE	120		M				H			ES	
OPA Energy Retrofit Incetive Program (ERIP)	2010	19	kW	\$2,2552	\$	42.96	\$	42.96							
Large User		19			\$	42.96	\$	42,96	\$	0.84	\$	43.80	402,894	\$	0.00011
Total Forgone Revenue GPA program		12.712.037			*	149.718.02	*	149,718.02	١.	2,934.47	Ļ	152,652,49			

Calculated Interest on 2010 LRAM Total Revenue Yalues Boards's Prescribe interest Rates and Calculated Interest

	Q1 2010	Q2 2010	Q3 2010	Q4 2010	Q1 2011	Q2 2011	Q3 2011	Q4 2011	April 30, 2012	Total
×	0.55	0.55	0.89	1.2	1.47	1.47	1.47	1.47	1.47	
Residential (\$)	0.00	0.00	0.00	0.00	158.33	158.33	158.33	158.33	211.11	844.42
GS < 50 kV (\$)	0.00	0.00	0.00	0.00	323.27	323.27	323.27	323.27	431.03	1,724.10
GS 50 to 4,999 kV (\$)	0.00	0.00	0.00	0.00	68.46	68.46	68.46	68.46	91.28	365.11
GS 1,000 to 4,999 kV Co Gen(\$)	0.00	0.00	0.00	0.00	0.00	0.00	0.00	9.00	0.00	0.00
Large User (\$)	0.00	0.00	0.00	0.00	0.16	0.16	0.16	0.16	0.21	0.84

London Hydro has populated the rate riders as reflected in the above table and entered into the model 2012 IRM3 Rate Generator, Tab 14. Proposed Rate Riders.

Account 1562 PILs Recovery Adjustment

In compliance with the Board's Decision, London Hydro has included with this draft Rate Order the revised SIMPIL models for 2004 and for 2005 in which the account 1562 continuity tables have been updated to reflect the deemed additional recovery amount of \$400,000 for 2004 and the recalculated interest amounts for 2004, 2005 and 2006.

Additionally, an excel spreadsheet has been included with this filing to provide the updated calculation of interest amounts from January 1, 2007 to April 30, 2012.

The revised calculations with the recalculations of interest amounts result in a total indicated refundable amount to ratepayers of \$539,195.

The refundable amount of \$539,195 has been imputed to the model 2012 IRM3 Rate Generator, Tab 9. 2012 Continuity Schedule Def. Var, cell BP 40 and BQ 40.

Smart Meter Funding Adder (SMFA)

London Hydro acknowledges the Board's Decision to not continue the current SMFA after April 30, 2012 and the enclosed rate order reflects that Decision. With the following information, London Hydro seeks to inform the Board and Intervener's of the erratic rate adjustment pattern that will result from that Decision in an effort to have the Board reconsider that portion of its Decision.

On March 23, 2012, London Hydro filed with the OEB our Smart Meter Recovery Rate Application (EB-2012-0187). Although the Draft Rate Order rates and the Smart Meter rate riders (Smart Meter Disposition Rate Rider or SMDRR and Smart Meter Incremental Rate Rider or SMIRR) have yet to be approved, by comparing these proposed rates to that of current rates there is a pattern of erratic rate adjustments that will occur over a relatively short time frame.

As demonstrated in the tables below, our Residential Customers could be affected by monthly distribution rates that move from \$25.37 (for average consumption of 800 kWh's) on April 30, 2012, to a rate of \$23.08 per month on May 1, 2012. Then if proposed rates for the Smart Meter Rate Application is approved rates move to \$24.57.

It should be noted that if the Board does approve the smart meter rate riders, and approval for commencement of the recovery is made after May 2012, these rates could be affected by prorating (the recovery period of one year has been requested, and London Hydro anticipates to be filing for Cost of Service Rate Application for 2013). Therefore, if smart meter recovery rates are pro-rated with the rate rider commencement of say July 1, 2012, there is the potential for the distribution rate to be \$25.31 per month. This is a substantial difference in rates as rates could go from current of \$25.37 to a May 1, 2012 proposed draft Rate Order rate of \$23.08 to a pro-rated rate of \$25.31 on July 1, 2012.

To support the Board's stated preferences of rate mitigation and rate smoothing, London Hydro proposed in its application that there be continuation of the existing approved Smart Meter Funding Adder (EB-2010-0097) in the amount of \$1.46 per metered customer, until such time as this smart meter cost recovery application is approved by the Board. The result would be a smoothing of rates over the 2012 calendar year versus that rate decreases and subsequent rate increases that will occur from the Board's Decision.

Distribution Rate Comparision: Current Rates, 2012 Proposed Draft Rate Order Rates, and Applied Smart Meter Recovery Rates

Residential



General Service Under 50 kW



We respectfully encourage the Board to reconsider this portion of its Decision and allow the continuance of the existing smart meter rate adder of \$1.46 per customer until such time as this rate adder is replaced with a revised funding mechanism for London Hydro.

Page 9 of 9

es:			

Residential

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	12.61	12.72
Smart Meter Funding Adder	1.46	250
Service Charge Rate Rider(s)	0.18	
Distribution Volumetric Rate	0.01420	0.01432
Ontribution Volumetric Rate Rider(s)	(0 00030)	(0.00138)
ow Vollage Volumetric Rate	0.00000	0.00000
Refail Transmission Rate - Network Service Rate	0.00620	0.00700
Refail Transmission Rate Line and Transformation Connection Service Rafe	0.00500	0.00530
Wholesale Market Service Rete	0 0052	0.0052
Rural Rate Protection Charge	0.0013	0.0011
Standard Supply Service – Administration Charge (if applicable)	0.25	0 25
Debt Relirement Charge (DRC)	0.0070	0.0070
oss Factor	1 0409	1,0409

onsumption	800	kWh	The state of the s	KW
PP Tier One	600	kWh	Load Factor	

Factor 1.0409	Proposed Loss Factor
1.0409	Current Loss Factor

Consumption	800	kWh		kW		Current Loss Factor	tor	1.0409	
RPP Tier One	600	kWh	Load Factor			Proposed Loss Factor	actor	1.0409	
					ľ				
Residential	Volume	Current Rate (\$)	Current Charge (\$)	Volume	Proposed Rate (\$)	Proposed Charge (\$)	Change (\$)	Change (%)	INS W
Energy First Tier (kWh)	600.00	0.0680	40.80	600.00	0.0680	40.80	0.00	0 00%	34.85%
Energy Second Tier (KWh)	232 72	0.0790	18.38	232 72	0.0790	18.38	000	0 00%	15.70%
Sub-Total: Energy	Name of Strangers	Company of the Party of the Par	59.18	SERVICE	STATE OF THE PERSON	59.18	0.00	0.00%	%95,D5
Service Charge	-	1261	1261	-	12.72	1272	0.11	0.88%	10.87%
Service Charge Rate Rider(s)	-	1.64	1,64	-	0.00	0.00	-1.64	(100 00)%	0.00%
Distribution Volumetric Rate	800	0.0142	11.36	800	0 0143	11.46	0.100	0.88%	9 79%
Distribution Volumetric Rate Rider(s)	800	(0,0003)	(0.24)	800	{0.0014}	(1 10)	-0.86	359 55%	(0.94)%
Total: Distribution			25.37			23.08	-2.29	(9.03)%	19.71%
Retail Transmission Rate - Network Service Rate	832.72	0.0062	5.16	832.72	0 0070	5 83	0.67	12.90%	4 98%
Retail Transmission Rete – Line and Transformation Connection Service Rate	832 72	0 0050	4.16	632 72	0.0053	4.41	0.26	6 00%	3.77%
fotal: Retail Transmission			9.33			10.24	0.92	9.82%	8.75%
ub-Total: Delivery (Distribution and Retail :	STATE STATE OF	The second second	34.70	は高いない	Section 3	33.32	-1.38	(3.87)%	28,46%
Wholesele Market Service Rate	832,72	0.0052	4 33	832.72	0 0052	4 33	0.00	0 00%	3,70%
Rural Rate Protection Charge	832.72	0.0011	0.92	832.72	0.0011	0 92	0.00	0.00%	0.78%
Standard Supply Service – Administration Charge (if applicable)	1	0.25	0.25	1	0.25	0.25	0.00	0.00%	0.21%
Sub-Total: Regulatory	Single-School State	STREET STREET	5,50	Chesas Spring	BROWNS AND ADDRESS OF	5,50	STATEMENT OF STREET	processes and a	4.69%
Debt Retirement Charge (DRC)	800.00	0 00700	5,60	800	0.0070	5.60	0.00	0.00%	4.78%
Total Bill before Taxes	MANAGES 17.2	ASST-13150 MISS	96'701	45569488	\$ 21.500.00	103.80	-1.38	(1.31)%	88.50%
HST		13%	13.65		13%	13.47	-0.18	(1.31)%	11.50%
Otal Bill Commercial Control of C	(C) (S) (E) (E) (S)	1.44 (1.08) (1.0.19.)	118.62	Station Ch	TELESCOPE I	117.07	-1,55	(1.31)%	100.00%
Ontario Clean Energy Benefit (OCEB)		(10%)	90.10		(%0%)	41.71			
Total Bill (less OCEB)	\$1000 Per 18	BREAT STABBURS	106.76	中田の変化を	Parcelegosteric	105.36	(1.40)	(1.31)%	

General Service Less Than 50 kW

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	29 32	29.58
Smart Meter Funding Adder	1.46	•
Service Charge Rate Rider(s)	0.51	
Distribution Volumetric Rate	0 00910	0.00916
Distribution Volumetric Rate Rider(s)	(0.00020)	(0.00094)
Low Voltage Volumetric Rate	0.00000	0.00000
Retail Fransmission Rate - Network Service Rate	0.00580	0.00650
Retail Transmission Rate – Line and Transformation Connection Service Rate	0.00440	0 00460
Wholesale Market Service Rate	0.0052	0.0052
Rwal Rate Protection Charge	0.0013	0.0011
Standard Supply Service – Administration Charge (if applicable)	0.25	0.25
Debt Retirement Charge (DRC)	0.0070	0.0070
Loss Factor	1.0409	1.0408

Consumption	2,000	kWh		KW
PP Tier One	600	kWh	Load Factor	

Proposed Loss Factor	Current Loss Factor
1.0409	1.0409

General Service Less Than 50 kW	Volume	Current Rate (\$)	Current Charge (\$)	Volume	Proposed Rate (\$)	Proposed Charge (\$)	Change (\$)	Change (%)	% of Total
Energy First Tier (kWh)	600.00	0.0680	40.80	600.00	0.080	40 80	0.00	0.00%	14 19%
Energy Second Tier (XWh)	1,481.80	0.0790	117.06	1,481,80	0.0790	117.06	0.00	0.00%	40.72%
Sub-Total: Energy	STATISTICS OF	cocordos mitalos	157.86	#4 TEA STA	SCHOOL STREET	157.86	0.00	0.00%	54.92%
Service Charge	_	29.32	29 32	-	29.58	29.58	0.26	0.88%	10.29%
Service Charge Rate Rider(s)	J	1 97	1,97	-	000	080	-1,97	(100 00)%	0.00%
Distribution Volumetric Rate	2,000	0.0091	18 20	2,000	0.0092	18.36	0.16	0.88%	6.39%
Distribution Volumetric Rate Rider(s)	2,000	(0.0002)	(0.40)	2,000	(0 0009)	(1.06)	-1 48	370 58%	(0.65)%
Total: Ostribution			49.09			46.06	-3.03	(6.16)%	16,02%
Retail Transmission Rate - Network Service Rate	2,081 80	0 0058	12.07	2,081.80	0.0065	13.53	1 46	12 07%	471%
Retail Transmission Rate - Line and Transformation Connection Service Rate	2,081.80	0 0044	9.16	2,081.80	0.0046	958	0.42	4 55%	3,33%
Total: Retail Transmission	Charles of the Control of the Contro	Control of the last	21.23			23.11	1,87	8,82%	8.04%
Sub-Totat: Delivery (Distribution and Retail Transmission)	15085 SSC F		70.32	5887098	Secretary.	69,16	-1.16	(1.65)%	24,06%
Wholesale Market Service Rate	2,081.80	0.0052	10.83	2,081.80	0 0052	10.83	0.00	0.00%	3.77%
Rural Rate Protection Charge	2,081.60	0.0011	2 29	2,081 80	0.0011	2.29	0.00	0.00%	0.80%
Standard Supply Service - Administration Charge (if applicable)	-	0.25	0.25	1	0.25	0.25	0 00	0.00%	%eo 0
Sub-Total: Regulatory	INTERNATION OF SERVICE	Brokelithtothemer	13.37	1000 St. 1000	(日本の)(日本の)(日本の)	13.37	SATISFACE SATISFACE	A STREET, SQUARE,	4.05%
Debt Retirement Charge (DRC)	2,000.00	0.00700	14.00	2,000	0.0070	14.00	0.00	0.00%	4.87%
Total Bill before Taxes	STATE STATES	発売の記号を対する	255.55	SERVICE A	\$250 STATES	254.39	-1.16	W(87'0)	7609'88
HST		13%	33.22		13%	33.07	-0.15	(0.45)%	11.50%
Total Bill	100347500		288.77	HERITAGES.	\$54.25E.98	257.46	-1.31	74(57*0)	%00.00f
Ontario Clean Energy Banefit (OCEB)	1	(\$504)	-28.88		(10%)	-28.75			
Total Bill (less OCEB)	がらないまでなれる数	0.000	259.90	S. P. Contraggio	HERE JOHNSON	258.72	(1.18)	(0.45)%	V. 79

General Service 50 to 4,999 kW

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	290.16	292.71
Smart Meter Funding Adder	1 46	((4.0)
Service Charge Rate Rider(s)	3 90	(m)
Distribution Volumetric Rate	1 60810	1 62225
Distribution Volumetric Rate Rider(s)	(0 02590)	(0.39550)
Low Voltage Volumetric Rafe	0.00000	000000
Retail Transmission Rate - Network Service Rato	2.03640	2.29170
Retail Transmission Rate – Line and Transformation Connection Service Rate	1 63010	1 71720
Wholesale Market Service Rate	0.0052	0.0052
Rural Rate Protection Charge	0.0013	0.0011
Standard Supply Service Administration Charge (If applicable)	0.25	025
Debl Retirement Charge (DRC)	0 0070	0.0070
Loss Factor	1 0409	1,0409

	Consumption
	1,095,000
kWh	kWh
Load Factor	2,500
60.0%	WX

oposed Loss Factor	urrent Loss Factor
1.0409	1,0409

Consumption 1,095,000 kWh 2,500 kW Current Loss Factor 1,0409 Factor 1,0409 General Service 50 to 4,999 kW Volume Load Factor 60.0% Proposed Loss Factor 1,0409 % of total factor Energy Second Ter (Whi) 0.000 <t< th=""><th>A</th><th>(0.92)%</th><th>(267.87)</th><th>28,707.61</th><th>BALES OF SAN</th><th>The state of the</th><th>28,975.47</th><th>SELECTED LISTORY</th><th>ASJARZEST CLASS.</th><th>Total Bill (less OCEB)</th></t<>	A	(0.92)%	(267.87)	28,707.61	BALES OF SAN	The state of the	28,975.47	SELECTED LISTORY	ASJARZEST CLASS.	Total Bill (less OCEB)
1,095,000 kWh Load Factor 60.0% Current Loss Factor 1,0409 kWh Load Factor 60.0% Proposed Loss Factor 1,0409 1,040				-3,189.73	[90%]		-3,219.50	(10%)		Ontario Clean Energy Benefit (OCEB)
1,095,000 kWh 2,500 kW	9635	(0.92)%	-297.63	31,897.34		STATE STATE	32,194,97	400 (400 mile) C 4	0.3500000000000000000000000000000000000	Total BIII
1,095,000 NWh Load Factor 60.0% Current Loss Factor 1,0409 NWh Load Factor 60.0% Current Loss Factor 1,0409 NWh Load Factor 60.0% Current Loss Factor 1,0409 Current Loss Factor 1,0409 Current Charge (\$) Volume Proposed Loss Factor 1,0409 Change (\$)	1108	(0.92)%	-34.24	3,669.61	13%		3,703.85	13%		HST
1,095,000 kWh 2,560 kW	8528	(0.92)%	-263.39	28,227.74	A.C CO CA.C.	Special second	28,491,13	Park Comment of the Comment	Section of the second	Total Bill before Taxes
1,095,000 kWh 2,500 kW	2315.	0.00%	0.00	7,665,00	0.0070	1,095,000	7,665.00	0.00700	1,095,000.00	Dobt Relirement Charge (DRC)
1,095,000 kWh 2,500 kW	2169.	PROPERTY OF THE PARTY OF THE PA	AND PARTY AND PARTY AND PROPERTY.	7.180.90	ROUNDAMONTH AND	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7,408.86	material and a second s	distribution and	Sub-Total: Regulatory
1,095,000 kWh 2,500 kW Current Loss Factor 1,0409 kWh Load Factor 60.0% Proposed Loss Factor 1,0409 kWh Load Factor 60.0% Proposed Loss Factor 1,0409 kWh Load Factor 1,0409 kWh Proposed Loss Factor 1,0409 kWh Proposed Charge (\$) Change (\$)	0.08	0.00%	000	0 25	0.25	-	0.25	0.25	-	Standard Supply Service - Administration Charge (if applicable)
1,095,000 kWh 2,500 kW	378.7	(15.38)%	.227 96	1,253.76	0.0011	1, 139, 785, 50	1,481.72	0.0013	1,139,785 50	Rural Rate Protection Charge
1,095,000 kWh 2,590 kW	1790.	0.00%	000	5,926.88	0.0052	1,139,785.50	5,926.88	0.0052	1,139,785.50	Wholesale Market Service Rate
1,095,000 kWh 2,500 kW	4042	(0.26)%	-35.43	13,381.84			13,417.27	STREET, STREET		Sub-Total: Delivery (Distribution and Retail Transmission)
1,095,000 kWh 2,500 kW	3027.	9.34%	856.00	10,022.25			9,166.25		Walter Committee of the	Total: Retail Transmission
1,095,000 kWh 2,500 kW	1296	5.34%	217 75	4,293.00	1.7172	2,500.00	4,075.25	1.6301	2,500.00	Retail Transmission Rate - Line and Transformation Connection Service Rate
1,095,000 kWh 2,500 kW	1730	12.54%	638.25	5,729 25	2.2917	2,500.00	5,091.00	2.0364	2,500.00	Retail Transmission Rate - Network Service Rate
1,095,000 kWh 2,500 kW Current Loss Factor 1,0409 kWh Load Factor 60.0% Proposed Loss Factor 1,0409 kWh Load Factor 60.0% Proposed Loss Factor 1,0409 kWh Current Charge (\$) Volume Proposed Charge (\$) Change	1014.0	(20.97)%	-891.43	3,359.59			4,251.02			Total: Distribution
1,095,000 kWh 2,500 kW	(298.6	1427 03%	-924.00	(988 75)	(0 3955)	2,500	(64.75)	(0.0259)	2,500	Distribution Volumetric Rate Rider(s)
1,095,000 kWh 2,500 kW Current Loss Factor 1,0409 Proposed Loss Factor 1,0409	1225	0.88%	35.38	4.055.63	1.6223	2,500	4,020.25	1.6081	2,500	Distribution Volumetric Rate
1,095,000 kWh 2,500 kW	000	(100 00)%	-536	000	0.00	1	5.36	5 36	1	Service Charge Rate Rider(s)
1,095,000 kWh 2,500 kW	88 4	0.88%	2.55	292.71	292,71	-	290.16	290.16	_	Service Charge
1,095,000 kWh 2,500 kW	0.00	0.00%	0.00	0.00	growthou Stock	WASHINGTON THE	0.00	E TOTAL PROPERTY.	Design Street	Sub-Total: Energy
1,095,000 kWh 2,500 kW	0.00	0 00%	0.00	000			0.00			Energy Second Tier (kWh)
1,095,000 kWh 2,500 kW	0.00	0.00%	0.00	0.00	0 0680	0	0.00	0.0680	0.00	Energy First Tier (kWh)
1,095,000 kWh 2,500 kW Current Loss Factor kWh Load Factor 60.0% Proposed Loss Factor	% of T	Change (%)	Change (\$)	Proposed Charge (\$)	Proposed Rate (5)	Volume	Current Charge (\$)	Current Rate (\$)	Volume	General Service 50 to 4,999 kW
1,095,000 kWh 2,500 kW Current Loss Factor kWh Load Factor 60.0% Proposed Loss Factor	Ι΄									
1,095,000 kWh 2,500 kW Current Loss Factor		1.0409	actor	Proposed Loss Fa		60.0%	Load Factor	kWh		
		1.0409	tor	Current Loss Faci		WW	2,500	kWh	1,095,000	Consumption

2

General Service 50 to 4,999 kW (CoGeneration)

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	2,276.36	2,296.39
Smart Meter Funding Adder	1.46	20
Service Charge Rate Rider(s)	123,91	
Distribution Volumetric Rate	3.97130	4 00625
Distribution Volumetric Rate Rider(s)	(0.05100)	(0.82614)
Low Voltage Volumetric Rate	0.00000	0.00000
Retail Transmission Rate - Network Service Rate	3.01460	3.39260
Retail Transmission Rate – Line and Transformation Connection Service Rate	2.40280	2.53120
Wholesale Markel Service Rate	0.0052	2500.0
Rural Rate Protection Charge	0.0013	1100.0
Standard Supply Service – Administration Charge (if applicable)	0.25	0.25
Debt Retirement Charge (DRC)	0.0070	0 0070
Loss Factor	1.0409	1.0409

kWh
- 1

1.0.	Proposed Loss Factor
1.0.	Current Loss Factor

General Service 50 to 4,999 kW (CoGeneration)	Volume	Current Rate (\$)	Current Charge (\$)	Volume	Proposed Rate (\$)	Proposed Charge (\$)	Change (\$)	Change (%)	% of Total
Energy First Tier (kWh)	000	0 0680	0.00	٥	0.0680	0.00	000	0.00%	0.00%
Energy Second Tier (kWh)			0.00			0.00	0.00	0.00%	0.00%
Sub-Total: Energy	MARKET CONTRACTOR	Secretary of the second	0.00	September 1	Spinster and Spinster	0.00	0,00	0.00%	0.00%
Service Charge	1	2,276.36	2,276.36	-1	2,296 39	2,296.39	20 03	0.88%	88 49%
Service Charge Rate Rider(s)	-	125.37	125.37		0.00	0.00	-125 37	(100 00)%	0.00%
Distribution Volumetric Rate	2,500	3,9713	9,928.25	2,500	4.0062	10,015.62	87.37	0.88%	385.93%
Distribution Volumetric Rate Rider(s)	2,500	(0.0510)	(127.50)	2,500	(0.8261)	(2.065.34)	-1,937 84	1519 88%	(79.58)%
Total: Distribution			12,202.48			10,246.67	-1,955.81	(16.03)%	394.83%
Retail Transmission Rate - Network Service Rate	2,500.00	3 0146	7,536 50	2,500.00	3.3926	0,481.50	945.00	12.54%	326 81%
Retail Transmission Rate – Line and Transformation Connection Service Rate	2,500.00	2.4028	6,007,00	2,500.00	2.5312	6,328.00	321 00	5.34%	243.83%
Total: Retail Transmission			13,543.50			14,809,50	1,266.00	8.35%	570.65%
Sub-Total: Delivery (Distribution and Retail Transmission)	HEREN TONG		25,745.98	State And	STEEL STATES	25,056.17	-689.81	(2.68)%	965.48%
Wholesale Market Service Rate	1,139,785 50	0 0052	5,926.88	1 139 785 50	0.0052	5,926.88	0.00	0.00%	228 38%
Rural Rate Protection Charge	1,139,785.50	0 0013	1,481 72	1,139,785.50	0 0011	1,253 76	-227 96	(15 38)%	48 31%
Standard Supply Service - Administration Charge (if applicable).	1	0.25	0.25	-1	0.25	0 25	0 00	0.00%	001%
Sub-Total: Regulatory	STRUCKSTRUCKS	price Sealth Months.	7,408.86	CONTRACTOR	REPORTED STATES	7,180.90	State Commission (Characters)	Despitation (FO)	276,70%
Debt Retirement Charge (DRC)	1,095,000.00	0.00700	7,685.00	1,095,000	0.0070	7,665.00	0,00	0,00%	295.35%
Total Bill before Taxes	17. Subnitrations	98987879747525745	40,819.84	日本を使かれる	\$65-960,1155th	39,902.07	-017.77	(2.25)%	1537.539
HST		13%	5,306.58		13%	5,187.27	-119.31	(2.25)%	199.68%
Fotal Bill	PROPERTY OF	John Shaffell expline	46,126,41	The Section of	49.50 Sept.	45,089.34	-1,037.06	(2.25)%	1737.419
Ontario Clean Energy Benefit (OCEB)	- SSA	(5001)	4,612,64	000	(10%)	-4,508.93	383		
Total Bill (less OCEB)	dragstaggeden	SECRETARY BY MADE	41,613.77	recomparate and	arronal Street	40,580.40	(933.37)	(2.26)%	S. Carping

Ronthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	20,458.75	20,638.79
Smart Meter Funding Adder	1.46	200
Service Charge Rate Rider(s)	213.36	
Distribution Volumetric Rate	2,25930	2 27918
Distribution Volumetric Rate Rider(s)	(0.03650)	(0.52148)
Retail Transmission Rate - Network Service Rate	2,67500	3 01040
Retail Transmission Rate – Line and Transformation Connection Service Rate	2.27150	2.39290
Wholesale Market Service Rate	0.0052	0.0052
Rurel Rate Protection Charge	0.0013	0.0011
Standerd Supply Service – Administration Charge (if appiscable)	0.25	025
Debt Retirement Charge (DRC)	0.0070	0.0070
oss Factor		

notion	5,600,000	kWh	10,700
		HWX	Load Factor

	Proposed Loss Factor	Current Loss Factor
ł		H
	1.0041	1.0041

Consumption	5,600,000	kWh	10,700	kW		Current Loss Factor	tor	1.0041	
		kWh	Load Factor	60.0%		Proposed Loss Factor	actor	1.0041	
							1 1		
Large Use	Volume	Current Rate (\$)	Current Charge (\$)	Volume	Proposed Rate (\$)	Proposed Charge (5)	Change (\$)	Change (%)	% of Total
Energy First Tier (MVVh)	0.00	0.0680	000	٥	0.0880	000	0.00	0.00%	0.00%
Energy Second Tier (kWh)			0.00			0.00	0.00	0.00%	0.00%
Sub-Total: Energy	married delical	STREET, STREET, STREET,	0.00	The Street of	April 2000 in a	0.00	0.00	0.00%	9,000.0
Service Charge	1	20,458.75	20,458.75	_	20,638.79	20,638 79	180.04	0.88%	0.18%
Service Charge Rate Rider(s)	_	214.62	214 82		0.00	0.00	-214.62	100 001%	0.00%
Distribution Volumetric Rate	10,700	2 2593	24,174.51	10,700	2.2792	24,387,25	212.74	0.88%	0.22%
Distribution Volumetric Rate Rider(s)	10,700	(0.0365)	(390.55)	10,700	(0.5215)	(5,579.89)	-5,189.34	1328.73%	(0.05)%
Total: Distribution			44,275.03			36,638.72	-7,436.31	(16.60)%	0.33%
Retail Yranamission Rate - Network Service Rate	10,700	2 6750	28,622 50	10,700	3.0104	32 211 28	3,588.78	12.54%	0 29%
Retail Transmission Rate – Line and Transformation Connection Service Rate	10,700	2.2715	24,305.05	10,700	2 3929	25,604.03	1,298,98	5 34%	0.23%
Total: Retall Transmission			52,927.55			57,815,31	4,887.76	9.23%	0.52%
Sub-Total: Delivery (Distribution and Retail	SELECTION SELECT	Managed Spirit	87,202.58	EB28/913	Reference	94,654,03	-2,548,55	(2.62)%	0.85%
Wholesale Market Service Rate	5,622,960 00	0.0052	29.239.39	5,600,000 00	0.0052	29,120.00	-119.39	(0.41)%	0 26%
Rural Rate Protection Charge	5,622,960 00	0 0013	7,309.85	5,600,000 00	1,000	6,160.00	149 85	(15.73)%	0.06%
Standard Supply Service – Administration Charge (if applicable)	1	0.25	0 25	1	0.25	0.25	0.00	0.00%	0.00%
Sub-Total: Regulatory	THE RESERVE THE PERSON NAMED IN	THE RESERVE TO SERVE A	38,549,49	THE PERSON NAMED IN		35,280,25	STATE NAMED IN	Start Service of the least	0.32%
Debt Retirement Charge (DRC)	5,600,000.00	0.00700	39,200.00	5,600,000	0.0070	39,200.00	0.00	0.00%	0.35%
Yotal Bill before Taxes	Secretary Association	Personal Property and	172,862,07	PROFESSION OF	38.45.00.00	169, 134, 28	-3,817.79	(2.21)%	1.61%
HST		13%	22,483,77		13%	21,987,46	-496.31	(2.21)%	0.20%
Total Bill	Stylin musika	FOSTBOOKER - STR	195,436,84	Merch Albert	Principle of the State of the S	191,121,74	4,314,10	(2.21)%	1.71%
Ontario Clean Energy Benefit (OCEB)	00 11 00	(10%)	-19,543,50		(10%)	-19,112,17			
Total Bill (less OCEB)	C1011010000000000000000000000000000000	12.05/21000015.548	175,892.26	WELL STATES	145.00,000	172,009.56	(3,882,69)	(2.21)%	14.00

Volumetric Volumetric

-0.3329

Unmetered Scattered Load

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	1.41	1 42
Smarl Meter Funding Adder		
Service Charge Rate Rider(s)	0 00	
Distribution Volumetric Rate	0.01170	0.01180
Distribution Volumetric Rate Rider(s)	(0.00010)	(0.00113)
Low Voltage Volumetric Rate	0.00000	0 00000
Retail Transmission Rate - Network Service Rate	0.00580	0.00650
Retail Transmission Rate – Line and Transformation	0 00440	0.00460
Wholesale Market Service Rate	0 0052	0.0052
Rural Rate Protection Charge	0.0013	0.0011
Slandard Supply Service = Administration Charge (f applicable)	0 25	0.25
Debt Retirement Charge (DRC)	0.0070	0.0070
loss Factor	1 0400	1 0400

onsumption	2,000	kWh	0	ΚW
RPP Tier One	600	HW4	Load Factor	

	0.00%	0.00	235.03	1999	67 W. T. T.	235.03	AVENUE OF TAXA		Total Bill (less OCEB)
			-26.11	(10%)		26,11	(9668)		Ontario Clean Energy Benefit (OCEB)
100.00%	0.00%	0.00	261.15	2012/05/2010	C-4534009/9	261.15	Parties Still Blow	ETHIS HERS	Total Bill
11.50%	0.00%	0.00	30.04	13%		30.04	13%		HST
88.50%	0.00%	0.00	231.10	2	5000000	231.10	State	Security of	Total Bill before Taxes
5.38%	0.00%	0,00	14.00	0.0070	2,000	14.00	0.00700	2,000 00	Debt Retirement Charge (DRC)
5.12%	SECONDARY TOWNS	estimated by process	13.37	BOOK TO SEE	DARK THE ROOM	13.37	THE STREET, ST	Action of the second	Sub-Total: Regulatory
0.10%	0.00%	0.00	0.25	0.25	-	0.25	0.25	1	Standard Supply Service - Administration Charge (if applicable)
0.88%	0.00%	000	2 29	0 0011	2,08180	2.29	0.0011	2,081.80	Rural Rate Protection Charge
4 15%	0.00%	0.00	10.83	0.0052	2,081.80	10.83	0.0052	2,081 80	Wholesale Market Service Rate
17.57%	0.00%	0,00	45.87			45.87			Sub-Total: Delivery (Distribution and Retail Transmission)
8.85%	8.82%	1.87	23,11			21.23			Total: Retail Transmission
367%	4 \$5%	0.42	9.58	0.0046	2,081.80	9.16	0.0044	2,081.80	Retail Transmission Rate - Line and Transformation Connection Service Rate
5.18%	12.07%	1 46	13.53	0.0065	2,081.80	12.07	0 005B	2,081.80	Retail Transmission Rate - Network Service Rate
8.72%	(7.60)%	-1.87	22.77			24.84			Total: Distribution
(0.87)%	1030.95%	-2.06	(2 26)	(0.0011)	2,000	(0.20)	(0.0001)	2,000	Distribution Volumetric Rate Rider(s)
9 04%	0.88%	021	23.61	0.0118	2,000	23 40	0.0117	2,000	Distribution Volumetric Rate
0.00%	(100.00)%	-0 03	000	000	_	0.03	0.03	-	Service Charge Rate Rider(s)
0.54%	0.88%	0.01	1.42	1.42	-	1.41	1.41	-	Service Charge
60.45%	0.00%	0.00	157.86	SECONOCIONES.	PONDET ROLL	157.86	Bidding/8t/mapsy	REPRODUCED SPECIAL	Sub-Total: Energy
44 83%	0.00%	0.00	117.06	0.0790	1,481.80	117.06	0 0790	1,481.80	Energy Second Tier (kWh)
15.62%	0.00%	0.00	40.80	0.0680	600.00	40.80	0.0680	600.00	Energy First Tier (XWh)
% of Lotal	Change (%)	Change (\$)	Proposed Charge (\$)	Rate (\$)	Volume	Current Charge (\$)	Current Rate (\$)	Volume	Unmetered Scattered Load

Sentinel Lighting

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	3.11	3.14
Smart Moter Funding Adder	- 80	
Service Charge Rate Rider(s)	0.01	
Distribution Volumetric Rate	10.04780	10.13822
Distribution Volumetric Rate Rider(s)	(0.18980)	(0.84224)
Low Voltage Volumetric Rate	0.00000	00000
Retail Transmission Rate – Metwork Service Rate	1,79550	2 02060
Retail Transmission Rate - Line and Transformation Connection Service Rate	1 43720	1 51 400
Wholesale Market Service Rate	0.0052	0.0052
Rural Rate Protection Charge	0.0013	\$100.0
Standard Supply Service - Administration Charge (III	0.25	52.0
Debt Rebrement Charge (ORC)	0.0070	0,000
oss Factor	1.0409	8000 t

sumption	180	LIAAN	0.50
		K IAIT	Load Eactor

	Control of the Panels
1.040	Content Coss Factor

Consumption	180	kWh	0.50	WW		Current Loss Factor	tor	1.0409	
		kWh	Load Factor			Proposed Loss Factor	actor	1.0409	
Sentinel Lighting	Volume	Current Date (4)	Current Channel (S)	Volume	Proposed	Property Charles (C)	Chance (t)	Channe (K)	MOI to %
					K400 (3)				HE
Energy First Tier (kWh)	187.36	0.0880	1274	187	0.0680	1274	0.00	0.00%	332.85%
Energy Second Tier (kWh)			0.00			0.00	000	0.00%	0.00%
Sub-Total: Energy	SAMPLE SAMPLE	Mahaappalambe	12.74	550msW810	divisional to see	12.74	0.00	0.00%	332.85%
Service Charge	1	3,11	3.11	1	314	3.14	0.03	0.88%	81 96%
Service Charge Rate Rider(s)	1	0.01	0.01	-	0.00	0.00	-0.01	(100 00)%	0.00%
Distribution Volumetric Rate	0.50	10.0478	5.02	0.50	10.1362	507	004	9880	132.41%
Distribution Volumetric Rate Rider(s)	0.50	(0 1898)	(80.0)	0.50	(0.6422)	(0.32)	-0 23	238 38%	(8 39)%
Total: Distribution			0.05			7.86	-0.16	(2.06)%	205.98%
Retail Transression Rate - Network Service Rate	0.50	1.7955	06.0	0.50	9020.2	1.01	0.11	12 54%	26 39%
Retail Transmission Rate – Line and Transformation Connection Service Rate	0.50	1 4372	072	050	1 5140	0.76	004	534%	19 78%
Total: Retail Transmission			1.62			1.77	0,18	8.34%	46.17%
Bub-Total: Delivery (Distribution and Ratal)		SECTION SECTION	9.87		HE STATE	59.6	-0,91	(0.14)%	282,18%
Wholesale Market Service Rate	187 36	0.0052	0.97	187.36	0.0052	0.97	000	0.00%	25 45%
Rural Rate Protection Charge	187.36	0 0013	024	187.36	0 0013	0.24	000	%00·0	6.36%
Standard Supply Service – Administration Charge (if popiceble)	1	0 2500	0 25	_	0.25	0.25	000	9,00%	6.53%
Sub-Total: Regulatory	SCOREFUL IONS	OSBIDSTRONG.	1.47	mittaething.	MARKED TO	1.47	(Sycason metalogical	entirizationisment.	38,35%
Debt Retirement Charge (DRC)	180 00	0.007	1.26	190	0.0070	1,26	0.00	0.00%	32.92%
Total Bill before Taxes	WAS DECIDED BY	1577-100-100-00 BBM	25.13	ST STATES		28.12	-0.01	(0.05)%	650.27%
TSH		13%	3.27		13%	3.27	-0.00	(0.05)%	85.31%
Total 841	100		28.40	Carl Concession	J. 65-20 Car.	28.39	-0,02	(0.05)%	741.68%
Ontario Clean Energy Benefit (OCEB)		(30%)	-2.84		(10%)	-2.84			
Total Bill (less OCEB)		The second second	25,56	40,000	or Comment	25,55	(0.01)	(0.05)%	

Monthly Rates and Charges	Current Rate	Applied For Rate
Service Charge	1 38	1 39
Smart Meter Funding Adder	(34)	
Service Charge Rate Rider(s)	0.01	,
Distribution Volumetric Rate	7 04820	7 11022
Distribution Volumetric Rate Rider(s)	(0.13530)	(0.54276)
Low Voltage Volumetric Rate	0.00000	0.0000
Retail Transmission Rate - Network Service Rate	1.79310	2.01790
Exaction Connection Senso Bata	1.43540	1.51210
Wholesale Market Service Rate	0 0052	0.0052
Rural Rate Protection Charge	0.0013	0.0013
andicable)	0.25	0.25
Debt Retirement Charge (DRC)	0.0070	0.0070
Loss Factor	1 0400	

37 237

roposed Loss Factor	urrent Loss Factor
1.0409	1.0409

	(0.04)%	(0.00)	5.88	SAT 1945/2942	CS687-40-555	5.88	The Store to Store	RESENTANTED	Total Bill (less OCEB)
Technology (7.4 THE BOX		-0.65	(30%)	1	-0.85	(10%)		Onlario Clean Energy Benefit (OCEB)
351,99%	(0.04)%	-0.00	8.53	The State of the S	1	0.63	D-10705-0-1070-0	250 THE SECTION OF	Total Bill
40.49%	(0.04)%	-0.00	0.75	13%		0.75	13%		HSS
311,48%	(0.04)%	-0.00	5.78	をからからの	A555 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	5.78	B. 10 (12 (12 (12 (12 (12 (12 (12 (12 (12 (12	a County and	Total Bill before Taxes
13.96%	0.00%	0.00	0.28	0.0070	37	0.26	0.007	37.00	Debt Retirement Charge (DRC)
26,96%	Becompletes	Sports abbidges record	0.50	More among	Spice contract	0.50	15.00 May 20.00	district the second	Sub-Total: Regulatory
13 47%	0 00%	0.00	0.25	025	-	0.26	0.2500	_	Standard Supply Service - Administration Charge (if applicable)
2.70%	0.00%	000	50.0	0.0013	38 51	005	0.0013	38.51	Rural Rate Protection Charge
10.79%	0.00%	0.00	0.20	0.0052	38.51	020	0.0052	38.51	Wholesale Market Service Rate
129,44%	%(eo.o)	-0,00	2.40		100 E 100 E	2.40		100 Sept. 100 Se	Sub- (office): Delivery (Distribution and Retail Transmission)
19.02%	9.34%	0.03	0.35			0.32			Total: Retail Transmission
8.15%	5 34%	0.01	0.15	1.5121	0,10	0.14	1.4354	0.10	Retail Transmission Rate – Line and Transformation Connection Service Rate
10.87%	12 54%	0.02	0 20	2.0179	0.10	0.10	1.7931	0.10	Retail Transmission Rate - Network Service Rate
110.42%	[1.56]%	-0.03	2.05			2.00			Total: Distribution
(2.92)%	301.16%	-004	(0.05)	(0.5428)	0.10	(0.01)	(0.1353)	0.10	Distribution Volumetric Rate Rider(s)
0.00%	0.00%	0.00	0.00	0.0000	0.10	000	0.0000	0.10	Low Voltage Volumetric Rate
36.32%	9/88.0	0.01	0.71	7.1102	0.10	0.70	7.0482	0.10	Distribution Volumetric Rafe
0 00%	(100.00)%	-0.01	0.00	0.00	1	0.01	0.01	_	Service Charge Rate Rider(s)
75.02%	0.88%	0.01	1.39	1.39	1	1.36	1.38	_	Service Charge
141.13%	0.00%	0.00	2.62	Signer years	Security Company	2.62	District of the last of the la	ALTERNATION AND ADDRESS.	Sub-Total: Energy
2,000	0.00%	0.00	0.00			0.00			Energy Second Tier (kWh)
141 13%	0.00%	0.00	262	0.0680	99	2 62	0.0680	38.51	Energy First Tier (kWh)
No local	Change (%)	Change (5)	Proposed Charge (\$)	Rate (\$)	Volume	Current Charge (\$)	Current Rate (\$)	Volume	Street Lighting